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(=)
800 o
EE
N= 14.07 = 2.000 = 7.04 @
HFERE (RC-40)
A= 0.800 x 14.07 = 11.256  m
V= 11.256 x 0.100 = 1126 m3
HEEEa o y—k
A= 0.800 x 14.07 = 11.256 m2
V= 11.256 x 0.100 - 1126 m3
T
A= 0.100 x 14.07 x = 2814 m
BEJLAI
A= 0.700 x 14.07 - 0.849 m
V= 9.849 x  0.01 - 0,098 m3
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BV —+

V=( 0.115

fliEE

N=14.07

Q) &L

V= 59.798

+ 0.084 ) x

= 2.000

x 14,07

14.07

X

— 43.054

x 14,07

0.5

X

0.500

X

14.07

0. 700

7.035

59. 798

43. 054

16. 744

11. 256

m3

M

m3

m3

m3

m2
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500 x 1300 T No.1+1.00 ~ No.1+10.00 #EE 9.00 m
73
ERHEA=4. 35 Hp | 3:W1 | 0.860
A | 5:h1 | 0.100
1BEREA1=1.53 1BREA2=1.53 E tig:W2 | 0.860
ar | &:h2 | 0.100
760 Z:W3 | 0.760
b o =:h3 | 0.010
Y o 3% :H1| 0.084
AL 120 0. 065
PRYE V) 4.35
HEL 3.06
S
860
EE%
N= 9 =~ 2.000 = 4.50 &
HEERR (RC-40)
A= 0.860 x 9 = 1.740 m2
V= 7.74 x 0.100 = 0.774 m3
HE@Ea o )—+Fk
A= 0.860 x 9 = 1.740 m2
V= 7.74 x 0.100 = 0.774 m3
iy eg
A= 0.100 x 9 X = 1.8 m2
BEJLAI
A= 0.760 x 9 = 6. 84 m2
V= 6.84 x 0.01 = 0.068 m2
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BV —+

V=( 0.084 + 0.065 ) x

fliEE

N= 9 -

Q) &L

V=39.150 —

2.000

27.540

0.5

X

0.500

X

0.335

4.500

39. 150

27. 540

11. 610

1.740

m3

M

m3

m3

m3

m2
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500 x 1300 T No. 1+10.00 ~ No. 1+15.23 ZE 200  m
B&
) H=p | 7&.WI | 0800
BRifiAcA. 25 BE [ Zn 0100
=p | B W2 | 0.800
##5AI=1.53 1B RA2=1. 53 aY | &:h2 | 0.100
700 f8-W3 | 0.700
B =20 070
] 3 H1| 0.065
HEE2 &S
] REY =l 0.173
RIE Y 4. 250
HEL 3.060
()
800 o
EE
N 4 = 2000 = 200 &
HRERE (RC-40)
A= 0.800 x 4 - 3200 m
V= 3.2  x  0.100 - 0320 m
HEEEa o y—k
A= 0.800 x 4 = 3200 m
V= 3.2 x  0.100 - 0320 m
nf
A= 0100 x 4  x 2 - 0.8 m2
BEJLAI
A= 0.700 x 4 - 2.8 m2
V= 2.8  x  0.01 - 0028 m
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BV —+

V=( 0.065

fliEE

N 4

T
(1) BR¥E

V=" 4.25
(2) #RL

V= 3.06
Q) &L

V= 17.000
(4) EEEIE

V=" 0.8

+ 0.173 ) x
= 2.000

X 4

X 4

— 12.240

X 4

0.5

X

0.500

X

0.238

2.000

17. 000

12. 240

4.760

3.200

m3

M

m3

m3

m3

m2
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500 X 1200 it B No.1+15.23 ~ No.1+18.23 #iEE 3.00 m
B& X
FRAEA=3. 89 EmE | BE:W1 | 0.780
»a &:h1 ] 0.100
EERA=1.40 1EEREA2=1. 40 i g W2 0780
= [xfo
H - .
oy &:h3 | 0.010
J s, | L7 :HT] 0.073
Y REY =m0 0. 154
RIE Y 3.890
BRL 2.800
(=)
50 | 500 50/
A o
=)
780
EEE
N= 3 = 2.000 = 1.50 e
EHEA (RC-40)
A= 0.780 x 3 = 2.340 m2
V= 2.34 x 0.100 = 0.234 m3
HE@Ea o )—+Fk
A= 0.780 x 3 = 2.340 m2
V= 2.34 x 0.100 = 0.234 m3
Eiy oA
A= 0.100 x 3 X 2 = 0.6 m2
BEJLAI
A= 0.680 X 3 = 2.04 m2
V= 2.04 X 0.01 = 0.020 m2
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BV —+

V=( 0.073

fliEE

N= 3

VE

+ 0.154 ) x

= 2.000

— 8.400

0.5

X

0.500

X

0.170

1. 500

11. 670

8. 400

3.270

2.340

m3

M

m3

m3

m3

m2
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500 x 1100 e T No. 1+18.23 ~ No.2+1.23 & 300  m
B&
7 | 72.Wl | 0.780
PR4EA=S. 89 T:%g -,g,ﬂi "h1 | 0.100
HBERAM=1.27 HEEREA2=1. 27 %ﬁ% T%ZWZ 0. 780
ay =:h2 | 0.100
8. W3 | 0.680
B =30 070
_ E3zHi| 0.054
HEE=%&)
/T\N AR =l 0135
BR1E Y 3.890
&L 2. 540
é
780 o
EE
N 3 = 2.000 = 1.50 &
HFERE (RC-40)
A= 0.780 x 3 = 2340 m
V= 234 x 0.100 = 0.2 m
HEEEa o y—k
A= 0.780 x 3 = 2340 m
V= 234 x  0.100 - 0.2 m
A
A= 0.100 x 3 X 2 = 0.6 m2
BEJLAI
A= 0.680 x 3 - 204  m2
V= 2.04 x 0.0 = 0.020 m
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BV —+

V=( 0.054 + 0.135 )«x

fliEE

N= 3 =

T
(1) FRHE

V= 3.890 x
(2) BRL

V= 2.540 x
Q) &L

V= 11.670 —
(4) EmBIE

V=" 0.78 x

2.000

1.620

0.5

X

0.500

X

0.142

1. 500

11. 670

71.620

4.050

2.340

m3

M

m3

m3

m3

m2
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500 x 1100 e No.2+1.23 ~ No 74000 ZE 10000 m
B
7 | 2 Wi ] 0.780
BRifEA=S3. 89 %E -,g,ﬂi "h1 | 0.100
EBERAM=1.27 HBEREA2=1.27 %ﬁ% T% W2 0. 780
ay =:h2 | 0.100
2 W3 | 0.680
B =20 070
- T HT] 0.135
HEE2 &S
/if% REY =00, 106
KiEY 3.89
e L 254
%
780 o
EBEH
N= 100 = 2.000 - 5000 {&
HBEFE (RC-40)
A= 0.780 x 100 - 78.000 m
V= 78 x  0.100 - 7.800 m3
HEEEa o y—k
A= 0.780 x 100 = 78.000 m
V= 78 x  0.100 = 7.800 m3
2
A= 0.100 x 100  x - 20 m2
BEJLAI
A= 0.680 x 100 - 68 m2
V= 68 x 0.0 = 0680 m




4-22

17 . BABaYY—+

V=( 0.135

8. fIEE

N= 100

8. T
(1) FRHE
V=" 3.890
(2) BRL
V=" 2.540
Q) “x
V=" 389.000

(4) EEEIE

+ 0.106 ) x

=~ 2.000

X 100

X 100

— 254.000

0.5

X

0.500

X

100

6. 025

50. 000

389. 000

254.000

135. 000

18. 000

m3

M

m3

m3

m3

m2
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500 x 1100 e T No. 740.00 ~ No.7+3.00 &ZE&E 300  m
B&
7 | 72.Wl | 0.780
PR4EA=S. 89 T:%g -,g,ﬂi "h1 | 0.100
HBERAM=1.27 HEEREA2=1. 27 %ﬁ% T%ZWZ 0. 780
ay =:h2 | 0.100
8. W3 | 0.680
B =30 070
_ 51| 0.106
HEE=%&)
/T\N e e R
BR1E Y 3.890
&L 2. 540
é
780 o
EE
N 3 = 2.000 = 1.50 &
HFERE (RC-40)
A= 0.780 x 3 = 2340 m
V= 234 x 0.100 = 0.2 m
HEEEa o y—k
A= 0.780 x 3 = 2340 m
V= 234 x  0.100 - 0.2 m
A
A= 0.100 x 3 X 2 = 0.6 m2
BEJLAI
A= 0.680 x 3 - 204  m2
V= 2.04 x 0.0 = 0.020 m




4-24

BV —+

V=( 0.106

fliEE

N= 3

T
(1) FRHE

V=" 3.890
(2) BRL

V=" 2.540
Q) &L

V= 11.670
(4) EmBIE

V=" 0.78

+ 0.165 ) x

= 2.000

— 17.620

0.5

X

0.500

X

0.203

1. 500

11. 670

71.620

4.050

2.340

m3

M

m3

m3

m3

m2
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500 X 1000 it B No.7+3.00 ~ No.7+8.00 ER 5.00 m
B& X
EpE | f2:W1 | 0.780
»a &:h1 ] 0.100
ERIEA=3. 26 EmE [ f2:W2 [ 0.780
ar | &:h2 | 0.100
#BEA1=1. 15 1BEA2=1. 15 mg:W3 | 0.680
iy &:h3 | 0.010
- EFE:H1] 0.065
HEE2GE
REL ool 0. 163
RIE Y 3.260
[ 1 BRL 2.300
EEE
N= 5 = 2.000 = 2.50 e
EHEA (RC-40)
A= 0.780 x 5 = 3.900 m2
V= 3.9 x 0.100 = 0.390 m3
HEiEaroy—+F
A= 0.780 x 5 = 3.900 m2
V= 3.9 x 0.100 = 0.390 m3
Eiy oA
A= 0.100 x 5 X = 1 m2
BELARI
A= 0.680 X 5 = 3.4 m2
V= 3.4 X 0.01 = 0.034 m2
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BV —+

V=( 0.065

fliEE

N= 5

T
(1) FRHE

V=" 3.260
(2) BRL

V=" 2.300
Q) &L

V= 16.300
(4) EmBIE

V=" 0.78

+ 0.163 ) x
= 2.000

X 5

X 5

— 11.500

X 5

0.5

X

0.500

X

0.285

2.500

16. 300

11. 500

4. 3800

3.900

m3

M

m3

m3

m3

m2
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500 X 900 Eingaiy No.7+8.00 ~ No.7+13.00 & 5.00 m
B& [
=pE | T2W1 ] 0.750
7a =:h1 | 0.100
FRiEA=2. 92 EmE [ f2:W2 [ 0.750
ar | &:h2 | 0.100
HEEREA1=1.03 1HRA2=1. 03 m2:W3 | 0.650
i =:h3 | 0.010
- L :H1| 0.063
HEE2GE
REY e[ 0,161
PRYE Y 2.920
HEL 2. 060
BEH
N= 5 = 2.000 = 2.50 &
AR (RC-40)
A= 0.750 x 5 = 3.750 m2
V=" 3.75 x 0.100 = 0.375 m3
HEa 0 )—+
A= 0.750 x 5 = 3.750 m2
V= 3.75 x 0.100 = 0.375 m3
B3
A= 0.100 x 5 X = 1 m2
BEILZIL
A= 0.650 x 5 = 3.25 m2
V= 3.25 x 0.01 = 0.033 m2




4-28

BV —+

V=( 0.063 +

fliEE

N= 5 =

T
(1) FRHE

V= 2.920 x
(2) BRL

V= 2.060 x
Q) &L

V= 14.600 -—
(4) EmBIE

V= 0.75 x

0. 161

2.000

10. 300

) X

0.5

X

0.500

X

0.280

2.500

14. 600

10. 300

4.300

3.750

m3

M

m3

m3

m3

m2
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500 X 800 Eingaiy No. 7+13.00 ~ No.7+18.00 & 5.00 m
A& B
FRiEA=2. 63 EmE | #E:W1 | 0.750
#%a =:h1 | 0.100
#HREA1=0. 92 1HERA2=0. 92 Hp mE:W2 [ 0.750
ar | &:h2 | 0.100
m2:W3 | 0.650
i =:h3 | 0.010
J] mag—., | Lo H1| 0.061
ALY 2l 0,159
FRIE Y 2. 630
B BERL 1.840
!
L 750 |
BE%
N= 5 - 2.000 = 2.50 &
HEERR (RC-40)
A= 0.750 x 5 = 3.750 m2
V=" 3.75 x 0.100 = 0.375 m3
HEa 0 )—+
A= 0.750 x 5 = 3.750 m2
V= 3.75 x 0.100 = 0.375 m3
B
A= 0.100 x 5 X 2 = 1 m2
BEILSI
A= 0.650 x 5 = 3.25 m2
V= 3.25 x 0.01 = 0.033 m2
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BV —+

V=( 0.061

fliEE

N= 5

T
(1) FRHE

V=" 2.630
(2) BRL

V=" 1.840
Q) &L

V= 13.150
(4) EmBIE

V=" 0.75

+ 0.159 ) x

= 2.000

— 9.200

0.5

X

0.500

X

0.275

2.500

13. 150

9.200

3. 950

3.750

m3

M

m3

m3

m3

m2
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500 X 700 it B No. 7+18.00 ~ No. 8+0.00 ER 2.00 m
B&
=g | 180 | 0.750
R1EA=2. 35 »a =:hl 0.100
=g | 1802 | 0.750
18 5A1=0. 81 18 RA2=0. 81 ay | &:h2 | 0.100
mg:W3 | 0.650
e =:h3 | 0.010
- EF:H1] 0.059
HEE2GE
REL o= 1al 0. 008
RIE Y 2.350
/5 HBEL 1. 620
i
750
EE
N= 2 = 2.000 = 1.00 e
AR (RC-40)
A= 0.750 x 2 = 1.500 m2
V= 1.5 x 0.100 = 0.150 m3
HEiEaroy—+F
A= 0.750 x 2 = 1.500 m2
V= 1.5 x 0.100 = 0.150 m3
T
A= 0.100 x 2 X 2 = 0.4 m2
BEILAI
A= 0.650 X 2 = 1.3 m2
V= 1.3 X 0.01 = 0.013 m2
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BV —+

V=( 0.059

fliEE

N= 2

T
(1) FRHE

V=" 2.350
(2) BRL

V= 1.620
Q) &L

V="4.700
(4) EmBIE

V=" 0.75

+ 0.098 )«x

= 2.000

— 3.240

0.5

X

0.500

X

0.079

1. 000

4.700

3. 240

1. 460

1. 500

m3

M

m3

m3

m3

m2
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500 X 700 it B No.8+0.00 ~ No. 8+7.08 ER 7.08 m
B&
=g | BN ] 0.750
R#EA=2. 35 »a =:hl 0.100
Hp | iB W2 | 0.750
18 5A1=0. 81 1HRA2=0. 81 ay | &:h2 | 0.100
mg:W3 | 0.650
e =:h3 | 0.010
- EF:H1] 0.098
HEE2GE
REY el 0115
RIE Y 2.350
/6 HBEL 1. 620
g
750
EE
N= 7.075 = 2.000 = 3.54 e
AR (RC-40)
A= 0.750 x 7.075 = 5. 306 m2
V= 5.306 x 0.100 = 0. 531 m3
HEiEaroy—+F
A= 0.750 x 7.075 = 5. 306 m2
V= 5306 x 0.100 = 0.531 m3
T
A= 0.100 x 7.075 x = 1.415 m2
BEILSZIL
A= 0.650 x 1.075 = 4.599 m2
V= 4599 «x 0.01 = 0. 046 m2
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BV —+

V=( 0.098

fliEE

N= 7.075

T
(1) FRHE

V=" 2.350
(2) BRL

V=" 1.620
Q) &L

V= 16.626
(4) EmBIE

V=" 0.75

+ 0.1156 ) x
= 2.000
x 1.075
x 1.075
— 11.462
x 1.075

0.5

X

0.500

X

1.075

0.377

3.538

16. 626

11. 462

5.164

5. 306

m3

M

m3

m3

m3

m2




B (A3 7 A K B (T2 ) AR S = 5 28

500X 1100
No.
bl )= friE | HAL jiis &

NO 0+ 6.08 ~ NO 0 + 19.33 m 13.27
NO R + 1.06 ~ NO R + 22.06 U 21.00

7N n 34. 27

IN

=

34. 27

4-35



B A3 T A K B (T2 A AR S0 = 5 25

5001200
No.
I I A7 | Hir jiIs pos

NO 0 + 19.33 ~ NO 1 + 13.33 m 14. 00
NO L + 3.08 ~ NO R + 1.06 /) 2. 00

7N R i 16. 00

N =

=

16. 00

4-36



B A3 T A K B (T2 A AR S0 = 5 25

500X 1300
No.
bl )= friE | HAL jiis &

NO 1 + 13.33 ~ NO 1 + 17.33 m 4.00
NO L + 3.08 ~ NO L +  0.94 U 2. 14

N n 6. 14

IN

=

6. 14

4-37
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4-39

500 x 1100 kT No.0+6.08 ~ No.0+19.333 %Z& __ 13.266 m
B&
=g | i@ W1 ] 0.780
FR4fiA=3. 89 & [ =:.h1 |0 100
HERA=1.27 HBEREA2=1. 27 %ﬁ% q_]_Enf W2 0. 780
ay =:h2 | 0.100
2 W3 | 0.680
B =20 010
_ T3 H1| 0.153
HEE=4%&)
/T\M AR = 0,057
BRYE Y 3.890
HEL 2.540
5
780 o
EE
N= 13.265 = 2.000 = 6.63 &
HFERE (RC-40)
A= 0.780 x 13.265 = 10.347 m
V= 10.347 x 0.100 = 1.0  m
HEEEa o y—k
A= 0.780 x 13.265 - 10347 m
V= 10.347 x  0.100 - 1.0  m
T
A= 0.100 x 13.265 x 2 = 2653 m
BEJLAI
A= 0.680 x 13.265 - 9.02 m2
V= 9.02 x  0.01 - 0.0 m
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ROy )—F

V=( 0.153

fliEE

N= 13.265

VE

V= 51.601

+ 0.057 )x

X

2.000

13. 265

13. 265

33. 693

13. 265

0. 696

6. 633

51. 601

33. 693

17.908

10. 347

m3

M

m3

m3

m3

m2
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500 x 1200 e No.0+19.333 ~ No. 1+13.333 IE& 14.00 m
B&
FR{EA=3. 89 EmE [ f2:W1 [ 0.780
BA [ &=:h1 | 0100
HERA1=1.40 HEREA2=1.40 i g W2 0. 780
AR SR
= - .
oy =:h3 | 0.010
/ s, | LR :HT] 0.157
Y REY =0 0.055
ERiE Y 3. 890
BREL 2.800
o
50 | 500 Em/
a3
=
780
EE
N= 14 = 2.000 = 7.00 &
HFERA (RC-40)
A= 0.780 x 14 = 10920 m2
V= 10.92 x 0.100 = 1.092 m3
HEEEa o y—k
A= 0.780 x 14 = 10920 m2
V= 10.92 x 0.100 = 1.092 m3
R %
A= 0.100 x 14  x 2 = 2.8 m2
BEJLAI
A= 0.680 x 14 = 9.52 m2
V= 952 x 001 = 0095 m2
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BV —+

V=(

0. 157

fliEE

N=

VE

V=

14

54. 460

+ 0.055 )x
= 2.000

X 14

X 14

— 39.200

X 14

0.5

X

0.500

X

14

0.742

7.000

54. 460

39. 200

15. 260

10. 920

m3

M

m3

m3

m3

m2




4-43

500 x 1300 e No. 1+13. 333 ~ No. 1+17.333 ZEE 200  m
B&
) =g | "W | 0800
BRifiAcA. 25 BE [ Zn 0100
=p | B W2 | 0.800
##5AI=1.53 1B RA2=1. 53 aY | &:h2 | 0.100
700 f8-W3 | 0.700
B =20 070
_ T3 H1| 0.155
HEE=4%&)
] REY =00, 126
RIE Y 4. 250
HEL 3.060
(=)
800 o
EE
N 4 = 2000 = 2.00 I
HRERE (RC-40)
A= 0.800 x 4 - 3200 m
V= 3.2  x  0.100 - 0320 m
HEEEa o y—k
A= 0.800 x 4 - 3200 m
V= 3.2 x  0.100 - 0320 m
nf
A= 0100 x 4  x 2 - 0.8 m2
BEJLAI
A= 0.700 x 4 - 2.8 m2
V= 2.8 x  0.01 - 0028 m
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BV —+

V=( 0.155

fliEE

N 4

T
(1) FRHE

V=" 4.250
(2) BRL

V=" 3.060
Q) &L

V= 17.000
(4) EmBIE

V=" 0.8

+ 0.126 ) x
= 2.000

X 4

X 4

— 12.240

X 4

0.5

X

0.500

X

0. 281

2.000

17. 000

12. 240

4.760

3.200

m3

M

m3

m3

m3

m2
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500 x 1300 T 13,082~ 10938 & 214 m
B&
7 | #2.W | 0.800
BRifiAcA. 25 %E -,g,ﬂi 1 | 0.100
=p | B W2 | 0.800
1BRAI=1.53 1BRA2=1. 53 aY | &:h2 | 0.100
700 f8-W3 | 0.700
B =20 070
_ T3 H1| 0.126
HEE=4%&)
] REY =00, 223
RIE Y 4. 250
HEL 3.060
(=)
800 o
EE
N= 2.144 = 2,000 = 1.07 I
HRERE (RC-40)
A= 0.800 x 2.144 - 1715 m
V= 1.715 x  0.100 - 0172 m
HEEEa o y—k
A= 0.800 x 2.144 - 1715 m
V= 1.715 x  0.100 - 0172 m
nf
A= 0.100 x 2.144 x 2 - 0429 m
BEJLAI
A= 0.700 x 2.144 = 1501 m
V= 1.501 x  0.01 - 0015 m
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BV —+

V=(

0.126

fliEE

N=

2.144

+ 0.223 ) «x

X

2.000

2.144

2.144

6. 561

2.144

0.5

X

0.500

X

2.144

0.187

1.072

9.112

6. 561

2. 551

1.715

m3

M

m3

m3

m3

m2
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500 X 1200 it B ~ R1.062 ERK 2.00 m
B& X
FR{EA=3. 89 EmE [ f2:W1 [ 0.780
»a &:h1 ] 0.100
EERA=1.40 IBEREA2=1.40 i g W2 0780
H - .
iy &:h3 | 0.010
/ s, | £ HT] 0.123
o AR =l 0,218
RIE Y 3.890
BRL 2.800
(=)
50 | 500 50/
A
=)
780
EEE
N= 2 = 2.000 = 1.00 e
EHEA (RC-40)
A= 0.780 x 2 = 1. 560 m2
V=" 1.56 x 0.100 = 0.156 m3
HE@Ea o )—+Fk
A= 0.780 x 2 = 1. 560 m2
V= 1.56 x 0.100 = 0.156 m3
Eiy oA
A= 0.100 x 2 X 2 = 0.4 m2
BEJLAI
A= 0.680 X 2 = 1.36 m2
V= 1.36 X 0.01 = 0.014 m2
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BV —+

V=( 0.123

fliEE

N= 2

T
(1) FRHE

V=" 3.890
(2) BRL

V=" 2.800
Q) &L

V=" 7.780
(4) EmBIE

V=" 0.78

+ 0.213 ) «x

= 2.000

— 5.600

0.5

X

0.500

X

0.168

1. 000

71.780

5. 600

2.180

1. 560

m3

M

m3

m3

m3

m2
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500 _x 1100 e RT.062 ~ R22.062 E& 21.00  m
B&
=g | i@ W1 ] 0.780
FR4fiA=3. 89 & [ =:h1 |0 100
HERA=1.27 HBEREA2=1. 27 %ﬁ% q_]_Enf W2 0. 780
ay =:h2 | 0.100
2 W3 | 0.680
B =20 010
_ T A1] 0.113
HEE=4%&)
/ﬁw AR = a0, 050
BRYE Y 3.890
HEL 2.540
}
780 o
EE
N= 21 = 2.000 = 1050 {&@
HFERE (RC-40)
A= 0.780 x 21 = 16.380 m
V= 16.38 x 0.100 = 1.638 m
HEEEa o y—k
A= 0.780 x 21 - 16.380 m2
V= 16.38 x 0.100 - 1.638  m3
A
A= 0.100 x 21 x 2 - 4.2 m2
BEJLAI
A= 0.680 x 21 - 1428 m
V= 14.28 x  0.01 - 0143  m
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ROy )—F

V=(C 0.113 4+ 0.05 )x 0.5 x 0.500 x 21 = 0. 856 m3

iEE

N= 21 = 2.000 = 10. 500 54

T
(1) FRHE

V=" 3.890 x 21 = 81. 690 m3
(2) BRL

V=" 2.540 x 21 = 53. 340 m3
Q) “x

V= 81.690 — 53.340 = 28. 350 m3
(4) EmBIE

V=" 0.78 x 21 = 16. 380 m2
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500 x 1200 e R22.062 ~ R46.062 itk 24.00 m
B&
FR{EA=3. 89 EmE | BE:W1 | 0.780
BA [ &=:h1 | 0100
HEEREA=1.40 HEREA2=1. 40 i g W2 0780
= - .
iy =:h3 | 0.010
/ s, | £ HT] 0. 150
- REY =l 0.078
BRI Y 3. 890
BREL 2.800
(=)
50 | 500 50/
3
S
780
EE
N= 24 = 2.000 = 12.00 &
HFERA (RC-40)
A= 0.780 x 24 = 18720 m2
V= 18.72 x 0.100 = 1.872  m3
HEEEa o y—k
A= 0.780 x 24 = 18720 m2
V= 18.72 x 0.100 = 1.872 m3
R %
A= 0.100 x 24  x 2 = 4.8 m2
BEJLAI
A= 0.680 x 24 = 16.32 m2
V= 16.32 x  0.01 = 0163 m2
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BV —+

V=( 0.15

fliEE

N= 24

T
(1) FRHE

V=" 3.890
(2) BRL

V=" 2.800
Q) &L

V= 93. 360
(4) EmBIE

V=" 0.78

+ 0.078 ) x
= 2.000

X 24

X 24

— 67.200

X 24

0.5

X

0.500

X

24

1. 368

12. 000

93. 360

67. 200

26. 160

18.720

m3

M

m3

m3

m3

m2




I 8 T 4 o S
ALEEANKEE  HP ¢ 350
No.
H] J) AriE | HAL 55 1A

NO 8+ 817 ~ NO 8 + 11.42 m 3.32

/I 3.32

IN

=1

3.32
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No. 1
JLELEENKIBEET ¢ 350 No. 8+8. 17~No. 8+11. 42 L= 3.316
<
©
Lo
o
ol N
Lol N
[an]
LO)|
100 450 100
650
FHEv)Y- (18-8-40)
A (RC-40)
1. EREH
N= 3.32 = 2.000 1.658 K
2. HEEH
A= 0.650 x 3.316 2.155 m
V= 2.1565  x 0.150 0.323 m
3. EHREIHY-
V= 0.450 x 0.220 x 3.316 — 0.015 0.313 m
4 . EEE)- 1 B
V= 0.220 x 2.000 x 3.316 1.459 m
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No. 2
OfF%xLT

8. RiEY

V= 2.240 x  3.316 7.43 m
9. BRL

V= 1.930 x  3.316 6.40 m
10 . :

v= 1.428 - 6.400 1.028 m
1. EEEIE

A= 0.650 x 3.316 2.155 m




K T3 B3R 3
ALAREE S K — EFEAAIEE A (SM-B900-L900-H1500)
No.
bl AL friE | HAL pile &
NO 0 + 6.43 e | 1. 00
N 1.00
= i

1. 00
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SOKPE TIE R R
ACNEE A K — T IS K HE (SM-B800-L800-H900)
No.
) i (i | HAr % &=
NO 8+ T.62 3 1. 00
o E 1.00
S

1. 00




Kt THERFR 2
BRI TE AR 7K 1% — FR AR K R (SM-B700-L700-H1500)
No.
Hl AL friE | HAL B B
NO 1 + 17.88 e 1.00
o E 1.00
A F

1. 00
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LEPL LS°L | LBEE | ¥W'I¥ [009 |00€ | €9°G 9L70 v¢'0 [ 86l | 0c°€ £ N
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No. 1
900 X 900 1500 No. + 6.426
BR{RIVIY-+ o ck=18N/mm2
V= 1.300 x 1.300 1.700
- 0.900 x 0.900 1. 500
EmEER
-( 0.283 + 0.603 0. 000 0.000)
x 0.200 1.481 m
- g VYIRS ¥y =
A= 1.300 x 1.300 4.000
+ 0.900 x 0.900 4.000
ERE R
-( 0.283 + 0.603 0. 000 0.000 )
X 2.000 8.228 m
wLarvosy—+r 18-8-40
V= 1.400 x 1. 400 0. 050 0.098 m
HLavyy—rER
A= 1.400 X 0. 050 4.000 0.280 m
HE#EwA t=0. 15 RC-40~0
A= 1.500 x 1.500 2.25 m
e hL-Fu9" (T-25)
N= 1.000 1.00 #
EHEE D13
N= 3.000 3.00 &
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No. Y
OF%ELT
8. FRIEY
v= ( 2300 x 2300 + 3470 x 3.470)
x 0.500 x 1.950 = fHHtt m3
9. b 3
V= 1500 x 1.500 x 0.200
+ 1.400 x 1.400 x 0.050
+ 1.300 x 1.300 x 1.700 = 341 m
10 . BREL
V= it - 3.421 = i m
11 . HEEIE
A= 2300 x 2 300 = 5200 m
TR
g1 0. 900
Mt 82 0. 900
=a 1.500
B[S 0.200
EE 0.200
$ 600 0. 283
t s 500%1300 | 0. 603
PR ETE
. 13 W2 1. 400
BLw =12 0050
Hig & W1 1.500
BE = 0. 200
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No. 1
800 X 800 900 No. + 7.620
BR{RIVIY-+ o ck=18N/mm2
V= 1.100 x 1.100 1. 050
- 0.800 x 0.800 0.900
EmE R
-( 0.303 + 0.075 0. 000 0.000)
x 0.150 0.638 m
e VYIRS ¥y =
A= 1.100 x 1.100 4.000
+ 0.800 x 0. 800 4.000
EREER
-( 0.303 + 0.075 0. 000 0.000 )
X 2.000 6. 644 m
wLarvosy—+r 18-8-40
V= 1.200 x 1.200 0. 050 0.072 m
HWLavy)y—rER
A= 1.200 x 0. 050 4.000 0.240 m
HE#Ewa t=0. 15 RC-40~0
A= 1.300 x 1.300 1.69 m
e hLb-Fu9" (T-25)
N= 1.000 1.00 #
EHEE D13
N = 0.00 1&
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No.
OF%ELT
8. RiE Y
V= ( 2100 x 2,100 + 3.270 x 3.270)
x 0.500 x 1.300 = 9.817m3
9. b 3
V= 1,300 x 1.300 x 0.200
+ 1.200 x 1.200 x 0.050
+ 1,100 x 1.100 x 1.050 = 1.681m
10 . BREL
v= 9817 - 1.681 = 8136 m
11 . HEEIE
A= 2.100 x 2.100 = 4410 m
Tk
T 0. 800
K<t 52 0. 800
B 0. 900
B[S 0.150
KR 0.150
500%700 | 0. 303
ERE ¢ 350 0.075
PERRmETE
\ & W2 1.200
Bl =h2 10 050
Hig & W1 1.300
BE = hi 0. 200
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No. 1
700 X 700 X 1500 No. 1 + 17. 883
BR{RIVIY-+ o ck=18N/mm2
V= 1.100 x 1.100 x 1.700
- 0.700 x 0.700 x 1. 500
EmE R
-( 0.597 + 0.597 + 0. 000 0.000)
x 0.200 1.083 m
e VYIRS ¥y =
A= 1.100 x 1.100 x 4.000
+ 0.700 x 0.700 x 4.000
EREER
-( 0.597 + 0.597 + 0. 000 0.000 )
X 2.000 4. 412 m
wLarvosy—+r 18-8-40
V= 1.200 x 1.200 x 0. 050 0.072 m
HWLavy)y—rER
A= 1.200 x 0.050 x 4.000 0.240 m
HE#Ewa t=0. 15 RC-40~0
A= 1.300 x 1.300 1.69 m
e hLb-Fu9" (T-25)
N= 1.000 1.00 #
EHEE D13
N= 3.000 3.00 &
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No.
OF%ELT
8. FRIEY
v= ( 2100 x 2100 + 3270 x 3.270)
x 0.500 x 1.950 = it m3
9. b 3
V= 1,300 x 1.300 x 0.200
+ 1,200 x 1.200 x 0.050
+ 1,100 x 1.100 x 1.700 = 2467 m
10 . BREL
V= it -  2.467 = i m
11 . HEEIE
A= 2100 x 2100 = 4.40m
Tk
g1 0. 700
Mt g2 0. 700
=& 1.500
B2 0.200
EE 0.200
500%1300 | 0.597
s 500%1300 | 0.597
PR ETE
. 13 W2 1.200
BLw =12 0050
Hig & W1 1.300
BE = 0. 200
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& T&HE KX
iE il ] il 5 1 Bify | % g 1 -2
EY X PiEE Jns" -k w=6.0m & 1y —2 A
THER Y b h=3. Om m 938.6| 1) — 2 #{E
kIR 1500%6000 S 26.0 |y —z 4t
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THE #REF | O )
A ; iR T
S S| i SR &t %
- G 1.0
el Z:jg. Oml\
1.0
m 538. 6
g > b h=3. Om
538. 6
R 150046000 ¥ 26. 0 26.0




B & & & " &
AT 7 m A7 — T

K& W=6. Om 1 A4 Y

BORE R OH R O X

F @ K
A=
HEA LT
$48.6 - =2,000 T e
AAAAAAAAA A i
A A A \‘\ A A \I.‘x Il
H N s A —ff
| 6, 000
/7 — b B RE A~ Al
— I HAESZIT
5 H O g B =X ==X (v G
HART—k W=60m |n= 1 = 1.000 | % 1. 000

h=1.35m




54

NN /2

H O % & 5 "5 F
AT - DT T

Hik& : h=3. Om 10m>4 Y

BB OH O OO K

AEE = v b
N il
BE=xY h (»48.6x2.4x 3000
/ &t
/ \ (6 48.6X 2.4x 5000)

o

3 pEAiE

- (6 48.6X2.4X2500)

o o
o @] e
2 3 RAE 5 &

o (0 48.6X2.4x 1500
(@]
f]
o ol
o ol o
= - O
O
— FTABNA T
L \ (6 48.6X2.4x 1500)
AR INA T
1500 1500 (6 48.6X2.4x1500)
H H B At & 2V Bl % &
BHEER & W=1500 | A= 3.000X10.00 = 30.000 | m® 30. 000
B S 7 | $48.6,t=2.4] n = 10.00+1.500X3 = 45.000 | & 45. 000
1.=1500

B XA 7 [ 048.6,t=2.4] n = 10.00+1. 500 = 6.667 [ A 6. 667
1.=2500

B XA 7 [ 048.6,t=2.4] n = 10.00+1. 500 = 6.667 [ A 6. 667
1.=3000

B XA 7 [ 648.6,t=2.4] n = 10.00-5. 000X 3 = 6.000 [ A 6. 000
1.=5000

7707 n = 10.00+1.500X9 = 60.000 | & 60. 000

vaA vk n = 10.00+5. 000X 3 = 6.000 | & 6. 000
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6-1

WEI#H= &5 X
i Al ot Al iR % BAL 2 &
BET RIEEE U ZaI;E 300 x 300 m 0.4
UZEI;E 360 % 360 m 0.6
UZUEI;E 450 x 450 m 0.5
VS-700 % 1300 m 12
BEEEE H P ¢ 300 m 4.1
HP ¢350 m 52
HP ¢500 m 4.8
HP ¢ 600 m 23.3
BEEEI A L &R EXBE H=0.81 m 55.2
avoy—t oo )— b t 25.3
| ))—F t 4.5




6-2

BEYREL
% FF = % B
Bl E
UZ!EI7E 300 x 300 0.40 04 m
UE % 360 x 360 0.60 0.6 m
UZAI7E 450 x 450 0.50 05 m
VS-700 % 1300 12.00 120 m
ERBE
HP ¢ 300 4.10 41 m
HP ¢ 350 5.20 52 m
HP ¢ 500 2.40 2.40 48 m
HP ¢ 600 23.30 233 m
MR E
LA RS BREE H=0.8m 55.20 55.2 m




6-3

WEEE&£FE
kAo \EHHa Y
oAl | oM Rl S B #=E wm =

HUSE EE |HEUEE £
fIERE | URAE 300x300( m 0.4 1.315 | 0.053
URIEIE 360%360( m 0.6 1.665 | 0.100
URIAIE 450x450 m 0.5 2.315 | 0.116

VS-700 x 1300 m 12.0 | 7.800 | 9.360 | 3.772 | 4.526
EEEE| HP 300 m 4.1 0.825 | 0.338
H P ¢ 350 m 5.2 1.020 | 0.530
H P ¢ 500 m 4.8 1.889 | 0.907
H P ¢ 600 m 23.3 | 2.716 | 6.328
VERERIF | L AUMEEE EREE H=0.8m| m 55.2 | 1.372 | 7.573

A&t 25. 3t 4.5t




6—4

Vv S700x 1300 10m=7=Y
VS-700 x 1300
970
UL SEEE
s 145 700 145 (axc) (ke)
e ‘ ‘ 700x1,300 | 1,560
1070
& W " E2 % =
AR -
(S H1v-1) 1.56t/2mx10.0 =| 7.800 t
EHE9Y-+ (0. 15%1.07%10 =| 1.605 m3

#HRI0)-b

1.605x2. 35

= 3.7712 t




UZaliE 300 x 300

6-5

10m 7= 1)
55 450 55
(-
LO
I
— . " % B
B3 27 U= 10, 263t/2mx 10.0

= 1.315 t




UEMEIE 360 x 360

10m=7=Y
50 360 50
o
O
(ap]
ZI ] | = % B
BEE3 27U 10.333t/20x 10,0 =| 1.665 t




URIMAE 450 x 450

10m=7=Y

50 300 50
()
S
(e}
2 = ol
ﬁfﬁ%: %79~ 0. 463t/2mx 10.0

2.315 t

67
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Ea—LE ¢300 10mzY
£ b1 g =X % =2
Ea—LE 1 Om-=2.000m/ZA 5.000 XK
#ara EE(5.000%x0.165 t /A& 0.825 t




6-9

Ea—LE ¢350 10mzY
£ b1 g =X % =2
Ea—LE 1 Om-=2.000m/ZA 5.000 XK
%o EE(5.000%x0.204 t /A& 1.020 t




6-10

Ea—LE ¢500 10mzY
\)
\ b
AN
\. [
£ b1 =X % =2
Ea—LE 1 0m-=2.430m/A& 4115 K
#aVEE[4.115%x0.450 t /K 1. 889 t




6-11

Ea—LE ¢600 10mzY
N
<z>%®
N
£ b1 g =X % =2
Ea—LE 1 0m-=2.430m/A& = 4115 K

#ma E=|4. 115%x0.660 t /K = 27116t




6-12

L B R EREE 10m&Y
i & Y 800mmiE
10
o
/
8
L/
& W " E2 % =
avyy—hk  {0.07x0.800x10 =| 0.560 ni
ma5 0 o B 8[0. 560 x 2. 45t/ =| 1312 ¢




